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1. a few

2. a little

3. a few

4. a little

5. little

6. a little

7. little

8. few

9. the little

10. little

Previous vocabulary

1. d) Butcher

2. a) Omniscient

3. a) Sterile

4.  b) flexible

5. c) Theist

6. a) in bad faith

7. b) an experimental person

8. b) heals

9. a) ninety

10. d) flight

11. c) Commanders - in - chief

12. b) vixen

13. a) spinster

14. c) pedestrian

15. a) from the beginning

16. d) bray

17. d) lamb

18. d) venison

19. d) bee

20. b) boast

PQ HUNT

1. 4 aSßv4 aSßv4 aSßv4 aSßv4 aSßv

]c∏fhv F∂m¬ hnkvXo¿Ww

NXpcØns‚ hnkvXo¿Ww = l ´ b

               hißƒ Cc´n®m¬ = 2l ´ 2b = 4lb

                     ]c∏fhv 4 aSßmIpw

2.400400400400400

Hcp NXpcØn¬ \n∂pw apdns®Sp°mhp∂ G‰hpw
henb kaNXpcØns‚ ]c∏fhv G‰hpw sNdnb
hiØns‚ h¿§ambncn°pw

]c∏fhv = 20 ´ 20

                           = 400cm2

3. 9696969696

       \ofw ‘l’ hoXn ‘b’ Fs∂Sp°mw

                             l = 2b

                    2b ´ b = 512

                           
b2 = 

512 
= 256

                                    2

                            b =  Ö256

                               = 16

              Np‰fhv  = 2(l+b)

                               = 2(32+16)

                               = 2 ´ 48

                               = 96cm

4. 124  N.ao124  N.ao124  N.ao124  N.ao124  N.ao

 ]mX Dƒs∏sS tXm´Øns‚

                   hnkvXo¿Ww  = 19 ´ 16

                                    = 304 m2

      tXm´Øns‚ am{Xw hnkvXo¿Ww = 15 ´ 12

                                    = 180 m2

        ]mXbpsS hnkvXo¿Ww = 304 ˛ 180

                                    = 124 m2

l = 2b

  = 2 ´16

  = 32

19m

15m

12m16m

KWnXw efnXw ˛ 10KWnXw efnXw ˛ 10KWnXw efnXw ˛ 10KWnXw efnXw ˛ 10KWnXw efnXw ˛ 10



5.  170 170 170 170 170 m

Np‰fhv = 2(l+b)

                    2(70+15) = 2 ´ 85

                                    = 170 m

 6. 5050505050

\S∏mXbpsS hnkvXo¿Ww = 10 ´ 5

                                  = 50

         ssSepIfpsS FÆw  = 50/1

                                  = 50

7.  96 96 96 96 96 m2

             hnkvXo¿Ww  = l ´ b = 24m2

   hißƒ Cc´n®m¬

           hnkvXo¿Ww    = 2l ´ 2b

                                         = 4 lb

                                         = 4 ´ 24

                                        = 96m2

8.  3a2

l = 3a

           \ofw ´hoXn = hnkvXo¿Ww

                          = 3a ´ a

                                     = 3a2

9. 2020202020

     NXpcØns‚ hnkvXo¿Ww = l´b

                           
 \ofw, l =

 hnkvXo¿Ww

                                                                b

                                                    
=

 200 
= 20cm

                                                        10

10. 410410410410410m

Np‰fhv = 2(l+b)

                                   = 2( 120 + 85)

                                   = 410 m

11) 20,1020,1020,1020,1020,10

Iºn-bpsS \ofw = 60 sk.an

   Iºn hf-®p-≠m-°nb

      NXp-c-Øns‚ ]c-∏-fhv  = l  ´ b

                                              = 200 cm2

        NXp-c-Øns‚ Np‰-fhv = 2(l +b)

                                             = 60cm

                                     l + b = 60/2

                                             = 30 cm

      l ´ b = 200

Iq´ptºmƒ 30 Dw KpWn°ptºmƒ 200 Dw hcp∂
kwJyIƒ (20,10)

\ofw = 20

                        hoXn = 10

 12) 66666

         NXp-c-Øns‚ \ofw  l, hoXn b

                             l = b + 2

             Np‰-fhv = 2(l+b)  = 20

                                      l + b = 10

                               b + 2 + b = 10

                                   2b + 2 = 10

                                         2b = 8

                                           b = 4

                          \ofw = b+2

                                              = 4+2

                                             = 6cm

 13) 800 N.-sk.an800 N.-sk.an800 N.-sk.an800 N.-sk.an800 N.-sk.an

               ]c-∏-fhv = l ´ b

                                   = 40 ´ 20

                                   = 800cm2

14) 20 sk.ao20 sk.ao20 sk.ao20 sk.ao20 sk.ao

2(l+b) = 120

  l + b = 60

       b = 60 - 40

                                = 20cm

 15) 8 sk.ao8 sk.ao8 sk.ao8 sk.ao8 sk.ao
    l = 3 + b

                  2(l+b) = 26

                      l+b = 13

              3 +b + b = 13

                        2b = 10

                          b = 5

                           l = 3 + b

                             = 3 +5

                             = 8cm



16) 192192192192192

XdtbmSpIfpsS FÆw =
    4m ´ 3m

                                                   25cm ´ 25cm

                                                 
=

  400 ´ 300

                                                        25 ´ 25

                                                 = 192

17) 1616161616

* * * * * *

* *

* *

* * * * * *

18) 57,750 cq]57,750 cq]57,750 cq]57,750 cq]57,750 cq]

  (\ofw +- ho-Xn -˛ ]mX-bpsS hoXn) ´]mX-bpsS hoXn

    = (70 + 45- ˛ 5)5

                    = 110 ´ 5

                    = 550m2

          550 ´ 105 = 57750

19) 25502550255025502550

l = 2b + 25                        2b = l - 25

                      l = 60 + 25           = 85-25

                      l = 85           = 60

          b = 60/2

                        = 30

 hnkvXo¿Æw = l ´ b

                       = 85 ´ 30

                       = 2550cm2

 20) 2424242424

5x = 40

                       
 x =

 40

                               5

                           = 8

             hoXn = 3x

                           = 24 m

21) 8 N.-sk.ao8 N.-sk.ao8 N.-sk.ao8 N.-sk.ao8 N.-sk.ao

      b = l - 2

                    2(l+b) = 12

                      l + b = 6

                  l + l - 2 = 6

                          2l = 8

                            l = 4

      hnkvXo¿Æw = l ´ b

                              = 4 ´ 2

                              = 8cm

 22) 1 ao1 ao1 ao1 ao1 ao

2 (l+b) = 6

                         l + b = 3

                         l ´ b = 2

           ChnsS, l = 2, b = 1

              F¶n¬ l - b

                                = 2-1

                                = 1

Are You Intelligent

1. 77777

IºnbpsS \ofw = NXpcØns‚ Np‰fhv

  Np‰fhv = 24

            \ofw +hoXn = 12 (Np‰fhns‚ ]IpXn)

           hnkvXo¿Ww = 35cm2

                           l + b  = 12, l ´ b = 35

Iq´ptºmƒ 12 Dw KpWn°ptºmƒ 35 Dw
hcp∂ 2 kwJyIƒ 7 Dw 5 Dw

                    \ \ofw = 7, hoXn = 5

2. ÖÖÖÖÖ2020202020

          NXpcØns‚ ]c∏fhv = \ofw ´ hoXn

     kaNXpcØns‚ ]c∏fhv = hiØns‚ h¿§w

     NXpcØns‚ hnkvXo¿Ww = 5 ´ 4

                                    = 20 cm2

 kaNXpcØns‚ hnkvXo¿Ww = hiw2

                                     = 20 cm2

          kaNXpcØns‚ hiw = Ö20

3. 32% h¿≤n°pw32% h¿≤n°pw32% h¿≤n°pw32% h¿≤n°pw32% h¿≤n°pw

hnkvXo¿Ww 100% Fs∂SpØm¬

      ]pXnb hnkvXo¿Ww = 100 ´ 110 ´ 120
                                        100   100

      = 132%

             hnkvXo¿Ww 32% h¿≤n°pw



a[pcw aebmfw ̨  10

PQ HUNT

1. H.-hn.-hn-P-b≥

2. sshtem-∏n≈n {io[-c-ta-t\m≥

3. ae-bm-‰q¿

4. ssh°w apl-Ω-Zv _jo¿

5. XIgn

6. Nß-ºpg

7. Ia-em-kp-cø

8. Pn.-i-¶-c-Ip-dp∏v

9. Cµp-teJ

10. DÆn-\o-en-k-tµiw

11. `mkvI-c-ta-t\m≥

12. hmk-\m-hn-IrXn

13. Ad-_n-s∏m∂v

14. CS-∏≈n cmL-h≥]n≈

15. CS-∏≈n

16.-sN-Ωo≥

17. Ipam-c-\m-im≥

18. ]pjv]-hmSn

19. N¥p-ta-t\m≥

20. _mem-a-Wn-b-Ω

21. hnem-kn\n

22. sNdp-ImSv

23. tIi-h-tZhv


